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1. Light propagatesin ...... lines. (straight, curved, refracted, reflected) —MMM (d
7 Fe— is a primary light color (Yellow, Red, Magenta, Cyan) (s Cuiga — ol Sda J,e—-ﬁé) e TS Jm-d\"'. E:nJS -
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1. What's ....... breakfast ? (of — at — by — for) . .
2. She wants to play in the ....... (skiing — trees — pick — leaves) P ol 3 2 ) G sy A g2 T
- (Juad) g ) — O jUaal) 5 S sdacdd) o) giadd — (4 gall 5 )
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| D is from light sources. (Sun, Candles, Electric lamp, all) (Lals — 1 s , s L 3{) . " ........ A 3.!:.“ by
2. Interaction between a cat and a rat is an example of ....... (Jlaad) — alada¥) — ald ) — algiall ) @t Al gl Mo glgaglall (S
(saprophytism, parasitism, predation, mutualism) s O 98) G daavall sy 3 g g 2| é (Z
3. From examples of dark objects ....... (air, glass, plastic, wood) (siha— s s e — eSS alle S3a) vaal) £ g M ug I Al Gl Lo 1y
4. All these methods are used to form mixtures except ....... (M —dgdgda— pd— Jold) : alalaall " | 4l g alrall *—HU -¥
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Choose the correct answer : (A ) Cla) gl — L) — Aaay o) — 3 jaal) Jaa) . ... PLPEVI P TIN
1. Maha waited ....... the bus . (at — with — for — in) e 5 § (o J 99 auda (g luaB) Slad) (A Luwsa gl
2. He's going to ....... a friend .  (visiting — visit — visits — visited) (SSa) — Lol — L 23— g 9)) | |
3. She....... Play in the leaves . (want — went — won't — build) o o sesssscescose - I d93) Giailand jral -Y
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4. Samy can ....... the laundry. (plant — cook — do — draw) (p 3] — 42 "‘ - A . 32) .
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5. Did you ....... At jokes ? (laughed — laugh — laughing — laughs) i
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1. 2.546Km= ....... dm (2546 , 25.46 , 25460 , 254.6) s ol AR - J ¥ O g
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e Choose the correct answer :

1. Light rays that can be seen are called ...... ( L"qua:a L'LUSS Lo Lo — Uncad) ¢ " LJA5 " sliaa ¥
(infrared, visible spectrum, ultraviolet, all) (algiiad) — g5 — £ ).a! ) ol £ g 1 Las g La LS " Y
2. The coil of dynamo is made up of ....... (copper, carbon, iron, steel) § ((av &8 asdaall) 4»1.“ A28 _ gleall) : Al J.Lu.i " Alasad) AlaS Y &L M
- T Is the most common solvent. (benzene, vinegar, water, oil) J (5~ — danial) _ Aaddl) ): ... 1) AN el Aade 1T Gl AN e ) aS"_e
4. All the following are ecosystems except ....... (desert, paper, sea, forest) o wa
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The Fifth Question : English s O 981 (o Aacaal) AUY) G4
e Choose the correct answer: 1 e ZU A s Jgha ab) pala gl JBa ay -
1. What's vour ....... subject? (middle — little — like — favourite) (u-'-‘-‘h-“ Jad) — aadll _ Gaadall - aisall)
2. She's ....... to ride a bus. (meeting — going —having —taking) | @ e raa g2 A i) Aadlall G gay -
3. Hany ....... tickets . (drank — went — bought — chopped) (Aalaad) (s BN — 4y 2l )H"'“U 3 9aual) — Alacdd) e — el A.E)
\ |
4. Aliwon't....... flowers . (plant — plants — planted — planting) § @ T g "’3 O 4 il el
(Lh.Ja dg i) — Jagaul — 3 ALAY)
5. He......... a TV show yesterday.
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